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fEn 303 1,487 811 1,632 0 0 0 4 386 365 0 0 0 41 11 1,293 45 664 0 0 600
wIkAE 27 90 69 90 0 0 0 26 90 90 0 0 0 88 45 90 90 90 0 0 90
IR K E 2 4 3 4 0 0 0 0 3 3 0 0 0 2 2 4 2 4 0 0 4
() HEBE 0 0 0 0 0 0 0 0 939 0 0 0 0 1,579 0 679 0 0 0 0 0
2 3 8 *3 5 9 3 0 0 0 0 8 *3 3 0 0 0 9 3 0 10 1 =3 5 %3 0 0 4 %3
#E 334 %3 1,588 3 889 1,735 3 0 0 0 30 1,425 3 460 3 0 0 0 1,719 58 2,075 137 3 763 3 0 0 698 3
1,318 3, 388 2,295 3, 690 0 0 0 195 1,485 1, 489 0 0 0 312 312 3,138 357 2, 180 0 0 2, 050
b 34 115 88 115 0 0 0 33 80 115 0 0 0 58 58 88 115 115 0 0 115
#(;%m& 5 9 8 9 0 0 0 0 7 6 0 0 0 5 5 9 5 9 0 0 9
0 0 0 0 0 0 0 0 640 0 0 0 0 242 0 707 0 0 0 0 0
1, 358 3,512 2,391 3,815 0 0 0 228 2,213 1,610 0 0 0 616 375 3,942 477 2,304 0 0 2,174
Yl 2 %l 14 #1 8 *l 15 *1 0 0 0 0 =l 3 xl 3 ] 0 0 0 0 =l 0 =l 11 = 0 =l 6 *l 0 0 5 *1
b E 0 1 0 1 0 1 0 1 0 0 0 0 #l 0 #l 0 #1 0 0 0 0 #l 0 1 0 1 0 #l 0 1 0 0 0 1
T HEBE 0 0 0 0 0 0 0 0 12 #1 0 0 0 0 11 # 0 11 # 0 0 0 0 0
(N) iU kK 0 3 0 3 0 3 0 3 0 0 0 0 3 0 3 0 0 0 0 0 3 0 3 0 *3 0 3 0 3 0 0 0 3
7oy 7 1 #3 2 %3 1 3 3 #3 0 0 0 0 *3 2 #3 2 #3 0 0 0 1 #3 0 #3 3 %3 1 #3 2 #3 0 0 2 #3
&t 3 %3 15 #3 8 *3 16 *3 0 0 0 0 3 15 [ 0 0 0 12 % 1 =3 22 xl 1 =3 8 *3 0 0 7 %3
RS 287 *1 864 *1 551 #1 943 #1 0 0 0 35 xl 331 *1 328 ] 0 0 0 62 xl 57 xl 785 xl R 504 *1 0 0 469 *1
b E 0 1 0 1 0 1 0 1 0 0 0 0 # 0 #l 0 #l 0 0 0 0 #l 0 1 0 1 0 #l 0 1 0 0 0 1
AGHE HEBE 0 0 0 0 0 0 0 0 231 #1 0 0 0 0 162 *1 0 216 *1 0 0 0 0 0
(N) HRK I 1o 2 % 1 =3 2 %3 0 0 0 0 *3 2 % 1 % 0 0 0 2 % 0 #3 3 % 0 3 1 0 0 1
7oy 7 34 #3 85 #3 51 #3 110 #3 0 0 0 10 #3 60 *3 58 3 0 0 0 19 #3 16 *3 107 #3 20 #3 T *3 0 0 T4 *3
Exis 287 *1 864 *1 551 *1 943 *1 0 0 0 41 %3 562 *1 344 *3 0 0 0 225 *1 67 *3 1,001 *1 83 *3 515 *3 0 0 482 *3
Yl 30 1 149 #1 81 1 163 *1 0 0 0 0 1 39 x1 36 0 0 0 4 1 1 * 129 *1 4 1 66 1 0 0 60 1
UNOLES T KE 0 #1 0 #1 0 # 0 * 0 0 0 0 #l 0 *1 0+l 0 0 0 0 #1 0 *l ! 0 *1 0 *1 0 0 0 1
REFE | 0 0 0 0 0 0 0 0 79 *1 0 0 0 0 55 *1 0 74 1 0 0 0 0 0
(N) HERKH 0 *3 1 =3 0 *3 1 3 0 0 0 0 #3 1 =3 0 3 0 0 0 1 0 #3 1 = 0 3 0 *3 0 0 0 #3
7oy 7 13 %3 33 #3 20 #3 43 #3 0 0 0 4 %3 23 #3 23 #3 0 0 0 T *3 6 *3 42 #3 8 #3 30 #3 0 0 29 #3
&t 40 *3 163 *3 91 3 186 3 0 0 0 4 3 117 *1 55 0 0 0 59 =l 7 %3 208 *3 12 %3 88 3 0 0 82 *3
EYEE 257 *1 715 #1 470 1 780 *1 0 0 0 35 x1 292 x1 292 x| 0 0 0 58 x1 56 1 656 1 67 x1 437 *1 0 0 409 1
b gE 0 1 0 1 0 1 0 1 0 0 0 0 #l 0 #l 0 #l 0 0 0 0 #l 0 1 0 1 0 #l 0 1 0 0 0 1
WA F R 0 0 0 0 0 0 0 0 152 1 0 0 0 0 107 *1 0 142 1 0 0 0 0 0
(N) HERK S 1 2 % 1 =3 2 %3 0 0 0 0 #3 2 %3 1 0 0 0 2 % 0 #3 2 # 0 3 1 0 0 1 o#
7oy 7 21 #3 52 #3 31 #3 67 *3 0 0 0 6 *3 36 #3 35 #9 0 0 0 12 #3 10 #3 65 *3 12 #3 47 #3 0 0 45 #3
Gt 257 #1 715 *1 470 %1 780 x1 0 0 0 37 %3 445 x1 292 x| 0 0 0 166 *1 59 3 798 x1 71 %3 438 %1 0 0 410 *1
FRBhF B (MR 127 *1 625 *1 341 *1 686 *1 0 0 0 2 *1 162 *1 153 *1 0 0 0 17 *1 5 *1 544 *1 19 #1 279 *1 0 0 252 *1
N HEBE 0 0 0 0 0 0 0 0 2,235 *2 0 0 0 0 2,513 *2 0 2,109 *2 0 0 0 0 0
HBICPE S EHRFR (N 0 0 0 0 0 0 0 0 243 *1 0 0 0 0 174 *1 0 226 *1 0 0 0 0 0
B 374 20, 934 3,178 33, 084 0 0 0 0 8,116 4,392 0 0 0 5, 866 93 31,776 93 12, 243 0 0 10, 467
Lok Wik AR 1TH% 374 19, 065 2,897 30, 560 0 0 0 0 7,576 3,925 0 0 0 5, 866 93 29, 502 93 10, 841 0 0 9, 252
. (N) LI 1% 93 10, 280 1,121 18, 037 0 0 0 0 5, 055 1,589 0 0 0 5,778 0 18, 130 0 4,673 0 0 3,738
1y Atk 0 748 0 1,682 0 0 0 0 3,435 0 0 0 0 5,778 0 3,938 0 93 0 0 0
% 16, 565 20, 898 18, 946 21,134 0 0 0 10, 390 83, 595 16,612 0 0 0 83, 595 15, 322 83, 595 15,518 19, 994 0 0 19, 929
T XEEAR 1A% 13, 960 17, 639 16, 050 17, 806 0 0 0 8, 777 71,033 14, 044 0 0 0 71, 360 12,874 70,901 13,124 16, 886 0 0 16, 803
(N) LI % 5,016 6, 353 5, 768 6,437 0 0 0 3,177 27,551 5,099 0 0 0 29,010 4, 681 26, 959 4,765 6, 102 0 0 6, 102
1y Atk 167 167 167 167 0 0 0 84 3, 636 167 0 0 0 5,717 167 2,790 167 167 0 0 167
B 912 6,401 4,331 6, 620 0 0 0 0 5, 459 1,215 0 0 0 6, 697 0 8, 145 0 3,928 0 0 3, 655
TATTA ey LH#% 78 468 312 508 0 0 0 0 1,735 78 0 0 0 2,743 0 1, 569 0 312 0 0 273
eE = L[ #% 0 0 0 0 0 0 0 0 1,435 0 0 0 0 2,414 0 1,037 0 0 0 0 0
1y Atk 0 0 0 0 0 0 0 0 1,435 0 0 0 0 2,414 0 1,037 0 0 0 0 0
e 593 4, 308 2,889 4,437 0 0 0 0 5,272 800 0 0 0 6, 847 0 6, 486 0 2, 605 0 0 2,425
i AEERHE 1 H % 568 3,973 2,657 4,076 0 0 0 0 4,924 748 0 0 0 6,435 0 6,009 0 2,399 0 0 2,244
([E1%3) L[ 77 593 387 593 0 0 0 0 1,544 103 0 0 0 2,321 0 1, 464 0 361 0 0 335
1y Atk 52 284 206 310 0 0 0 0 1, 246 52 0 0 0 1, 958 0 1, 087 0 181 0 0 155
% 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
it A 2 XhEF% 104 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(F) L[ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1y Ak 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
W Lé% ’_(Fﬁ) 12 15 14 15 0 0 0 5 14 11 0 0 0 12 10 16 10 15 0 0 15
i Lé%bmf:% (&) 0 B 5 B 0 0 0 0 5 5 0 0 0 5 1 5 5 5 0 0 5
it - g TS (D) 0 3 1 3 0 0 0 0 1 1 0 0 0 1 0 3 0 2 0 0 2
S s (65 T) 0 3 1 2 0 0 0 0 2 1 0 0 0 1 0 3 0 2 0 0 1
fp () L8H 0 0 0 4,493 *3 0 0 0 0 21,489 =3 0 0 0 0 14,341 *3 0 29,975 3 0 0 0 0 0
4~TH 2,653 *3 23,801 =3 2,325 *3 45,014 0 0 0 0 48, 236 8,425 *J 0 0 0 47,273 483 *3 72, 154 1,536 9,733 3 0 0 8,746 *3
AETERERE SR (AR i okhk (1) [L3H 0 97, 855 10, 065 177, 026 0 0 0 0 41, 653 18, 800 0 0 0 23, 494 0 172, 334 0 57,526 0 0 48, 433
T A~TH 3, 264 162, 054 22, 149 275, 605 0 0 0 0 72, 542 ,719 0 0 0 70, 387 656 271, 057 1,242 80, 747 0 0 66, 728
Efi (B 9763 3,685 *3 2,215 *3 4,083 *3 0 0 0 0 9,338 2,3 1,326 *] 0 0 0 8,863 *3 141 3 11, 050 291 2,068 *3 0 0 1,929
[ S LB A 3 13 7 14 0 0 0 0 12 4 0 0 0 14 0 17 1 6 0 0 6
REpERp@E (00 I HE R 7 0 0 0 0 0 0 0 0 15 0 0 0 0 17 0 15 0 0 0 0 0
— 1H% 581 1,934 1,201 2, 106 0 0 0 82 4,733 726 0 0 0 4, 527 140 5, 587 216 1,102 0 0 1,027
00 LI % 495 2,812 1,134 3, 854 0 0 0 68 2, 362 795 0 0 0 2,394 117 4,599 180 1,472 0 0 1,299
B 1y Atk 290 1, 156 601 1,476 0 0 0 41 1,610 363 0 0 0 2,077 70 2, 159 108 575 0 0 513
) — LH#% 387 1,289 801 1, 404 0 0 0 55 2,483 484 0 0 0 2,293 93 3,071 144 734 0 0 684
(’j\') L % 495 2,812 1,134 3,854 0 0 0 68 1,281 795 0 0 0 972 117 3,512 180 1,472 0 0 1, 299
Ly Atk 677 2, 696 1,401 3, 444 0 0 0 96 3, 756 847 0 0 0 4, 846 164 5, 037 252 1,341 0 0 1,198
1H#% 124 412 256 448 0 0 0 17 1,007 155 0 0 0 964 30 1,189 46 234 0 0 219
SEREREFE (N A% 105 599 241 820 0 0 0 15 503 169 0 0 0 510 25 979 38 313 0 0 277
1y Atk 62 246 128 314 0 0 0 9 343 77 0 0 0 442 15 459 23 122 0 0 109
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